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QUANTITATIVE 

Direction(1-5):-Study the following information carefully and 

answer the questions  as follows. 

Pie chart given below shows export distribution of 6 countries in 

percentage in 2018. Bar chart shows the increase in the exports 

percentage of these 6 respective countries in 2019 as compare to 

2018. 

Export in 2018 

    

 
1. What is the percentage increase in total export in 2019 as 

compare to 2018?  

1. 35.02% 2. 34.02% 

3. 36.05% 4. 32.1% 

5. None of these 

2. If total export in 2019 of all countries is Rs. 19815 cr. Then find 

the export of country S in 2018.  

1. 2430 cr. 2. 2160 cr. 

3. 2400 cr. 4. 2760 cr. 

5. None of these 

3. Export of country R in 2019 is what percent more/less than the 

export of country M, whose export is the average of export of 

country P and R together in 2019. (Approx.) 

1. 32 2. 30 

3. 35 4. 40 

5.27 

4. What will be the average export in 2019 all the countries 

together?(Approx.) 

1. 232 2. 230 

3. 235 4. 240 

5.220 

5. Maximum increase in the export in term of value is what % more 

than that of least increase in term of value of export?  

1. 200 2. 300 

3. 250 4. 275 

5. None of these 

Directions(6-8):- Given below the table shows types of interest 

offered by five banks, principal amount, time of period and rate 

of interest. Some of the data is missing. Calculate that according 

to information given in questions. 

 

 
 

6. If the ratio of interest rate of E to that of D is 3: 4, then find the 

difference between principle invested in D bank and amount 

obtained from E, if time period for both banks is same? 

1. Rs.23800  2. Rs.26800  

3. Rs.27600  4. Rs.28600  

5. Rs.27900  

7. If rate of interest offered by B and C bank is same. Then find 

principle invested in B is approximately what percent of amount 

obtained from C bank? 

1. 52% 2. 59% 

3. 70% 4. 65% 

5. 78% 

8.What is amount of interest obtained from A bank, if ratio of 

principle invested in A bank to principal invested in C bank is 7 : 5 

and time period is one year less for A bank than time period of C 

bank?  

1. 19020 2. 18060 

3. 18030 4. 17030  

5. 19080  

9. If total number of balls in a bag is 40 and ratio of green to black 

ball is 5:3.If the black balls in bag is increased by 5 from initial 

number of black balls. Than what will be the probability of drawn a 

black ball from the bag?  

1. 1/2 2.6/13 

3. 3/13  4. 1/15  

5. None of these 

10.Aboy,after giving 40% of his income to his friend and 10% of 

remaining to another friend his left Rs.5400 left .what is his 

income? 

(1)12500  2. 10500 

(3)10000 4. 11500 

(5) None of these 

11.The number of stairs in one floor of a building is 4% of the total 

number of stairs in the building. If each floor of the building had 

equal number of stairs and if the number of stairs in one floor is 
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equal to total number of floors. Find the number of floors in the 

building. 

1. 10 2. 15 

3. 20 4. 25 

5. Couldn’t be determined 

12. The expenditure on food of a guesthouse is partly fixed and 

partly variable, varying with the number of guests. If there are 10 

guests, then each of the guests has to bear Rs. 700 per month and if 

there are 2 more guests, then the share of each of the guests comes 

down by Rs. 100 per month. How many guests were there, if the 

share of each guest is Rs. 500? 

1.18 2. 18 

3. 14 4. 15 

5. None of these 

13. When the price of a product was marked 30% above its cost 

price and was sold at a discount of 20%, the selling price of the 

product was Rs. 10400. Find the selling price of the product, if the 

marked price was 20% above the cost price and the discount was 

15%. 

1. Rs. 9600 2. Rs. 10300  

3. Rs. 8800 4. Rs. 10200  

5. Rs. 11800 

14.Ajit borrowed some money at the rate of 3% p.a for the first 4 

years, at the rate of 4% p.a for the next 4 years and at the rate of 7% 

p.a for the period beyond 8 years. If he pays a total simple interest 

of Rs.11200 at the end of 12 years, how much money did he 

borrow? 

1. Rs. 24500 2. Rs. 28500 

3. Rs. 26900 4. Rs. 20000 

5. None of these 

15.What sum would amount to 24520 in three year at 12% p. a rate 

of compound interest? 

1. 18452.25 2. 17450.26 

3. 17000 4.17452.85 

5. 18000 

DIRECTION (Q. 16-20):- Find the wrong number in following 

number series:  

16. 156, 299, 494, 749, 1070, 1471  

1.  156  2. 1471   

3. 494  4. 1070  

5. 299 

17. 728, 839, 958, 1085, 1222, 1363  

1. 728  2. 1222  

3.  839  4. 1085  

5. 1363 

18. 16, 102, 515, 2064, 6195, 12396  

1. 16  2. 102  

3. 12396  4. 2064  

5.  6195 

19. 721, 103, 618, 123.6, 492.4, 164.8  

1.  721  2. 103  

3.  618  4. 123.6  

5.  492.4 

20. 4256, 3472, 3080, 2884, 2786, 2738 

1.  2884 2. 3472 

3.  4256 4. 2786 

5.  2738 

REASONING 

21.  Question below consists of a question and two statements 

numbered I and II given below it. You have to decide whether the 

data provided in the statements are sufficient to answer the question. 

There are six friends A, M, R, J, N and D are sitting in a row. All 

are facing towards the north direction. Who sits at the right end of 

the row? 

I. A sits second to the right of R. Only one person sits between D 

and M. Only one person sits between R and J. M is not an 

immediate neighbor of R. 

II. Only two persons sit between N and A. N is an immediate right 

of J. J sits third to the left of D. D does not sit at any end of the row. 

More than one person sits between N and M. 

1. Data in statement I alone sufficient to answer the question, while 

the data in statement II alone are not sufficient to answer the 

question. 

2. Data in statement II alone are sufficient to answer the question, 

while the data in statement I alone are not sufficient to answer the 

question. 

3. Data either in statement I alone or in statement II alone are 

sufficient to answer the question. 

4. Data in both the statements I and II together are not sufficient to 

answer the question. 

5. Data in both the statements I and II together are necessary to 

answer the question. 

22.  In the following question, a given question is followed by 
information in three statements. You have to decide the data in 
which statement(s) is sufficient to answer the question and mark 
your answer accordingly. 
Eight persons Pj, Qj, Rj, Sj, Tj, Uj, Vj and Wj have different 

heights. No two persons have the same height. Pj is shorter than Rj 

and Tj but taller than Qj and Qj is not the shortest person. Rj is taller 

than Uj and Vj but not the tallest of all. Sj is shorter than Pj but 

taller than Qj and Wj. How many persons are shorter than Pj? 

Statement I: Vj is taller than Wj but shorter than Tj. 

Statement II: Rj is not the tallest person but taller than Uj and Vj. 

Statement III: Sj is taller than Qj but shorter than Uj. Qj is shorter 

than Vj. 

1. the data in statement II alone are sufficient to answer the 

question, and the data in statement I or III is not required to answer 

the question. 

2. the data in either statement I, II or III are sufficient to answer the 

question. 

3. the data in statement I and II are sufficient to answer the question, 

and the data in statement III is not required to answer the question. 

4. the data in all three statements together is needed to answer the 

question. 

5. the data in all the statements, even together are not sufficient to 

answer the question. 

23.  The following question consists of two statements numbered I, 

II. Decide if the data given in the statements are sufficient to answer 

the question. Read the statements carefully and give the answer. 

How is Simran related to Nitin? 

Statements: 

I. Asim is the daughter of Simran and sister of Quresh. 
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II. Nitin is the son of Lokesh who is Asim's grandfather. 

1. The data in statement I alone are sufficient to answer the 

question, while the data in statement II are not sufficient to answer 

the question. 

2. The data in statement II alone are sufficient to answer the 

question, while the data in statement I are not sufficient to answer 

the question. 

3. The data in statement I alone or data in statement II are sufficient 

to answer the question. 

4. The data in both statement I and II together are necessary to 

answer the question. 

5. The data even in both statement I and II together are not 

sufficient to answer the question 

24.  The following question consists of three statements numbered 
I, II and III. Decide if data given in the statements are sufficient to 
answer the questions below. 
A, M, R, S and O are sitting around a circular table facing the 

centre. Who is on the immediate left of R? 

I. Only A is sitting between M and O. 

II. A is to the immediate left of M. 

III. S is to the immediate left of M. 

1. Only I and III are sufficient. 

2. Only II is sufficient. 

3. Only II and III are sufficient. 

4. All I, II and III together are required. 

5. None of these 

Direction(25-29): Read the following information carefully and 

answer the question asked below 

9 M 4 $ G U * 5 % @ X 3 # S & 2 7 ∆ I 8 O 1 J © 6 V P ^ 

Step 1: The letters which are immediately preceded by number are 

to be arranged in the alphabetical order immediately after the last 

element of the series. 

Step 2: The number which is immediately followed by another 

number and immediately preceded by the symbol are to be arranged 

in descending order immediately after the last element of the series. 

Step 3: The symbol which is immediately preceded by a letter is to 

be interchange with the element that immediately followed that 

symbol. 

Note – Step 2 is performed after completion of step 1 and step 3 is 

to be performed after completion of step 2. 

25. What is the sum of the element which is sixth from the left in 

step 3 and eighth from the right in step 2? 

1. Addition of element is not possible2. 13 

3. 11 

4. 10 

5. 12 

26. How many letters are there between the fourth element from the 

right and twelfth element from the right after completion of all the 

steps? 

1. One 2. Two 

3. Three 4. Four 

5. More than four 

27. Which of the following is seventh to the right of eight from the 

left in step 2? 

1. 7 2. & 

3. 9 4. ∆ 

5. 2 

28. If half of the series get reversed from starting after last step 

which of the following will be eighth element from the left end? 

1. % 2. 5 

3. @ 4. * 

5. U 

29. If all the alphabets are arranged in alphabetical order on the 

same places where alphabets placed after the last step which of the 

following element is seventh to the left of seventeenth from the left 

end? 

1. X 2. O 

3. S 4. P 

5. J 

30. If it is possible to make only one meaningful English word with 

the 3
rd

, 5
th
, 8

th
 and 9

th
 letters of the word VOCABULARY, which of 

the following will be the third letter of that word? If no such word 

can be made give ‘X’ as the answer and if more than one such word 

can be made give ‘Y’ as the answer. 

1. B 2. A 

3. C 4. X 

5. Y 

31.  Below a question is given with two statements (I) and (II). 
These statements may be either independent causes or may be 
effects of independent causes or a common cause. One of these 
statements may be the effect of the other statement. Read both 
the statements and decide which of the following answer choice 
correctly depicts the relationship between these two statements. 
Statements: 

I. Laliga loses a huge case at the courthouse. 

II. Laliga believes that she is jinxed as she saw a black cat on her 

way to the court house. 

1. Statement I is the cause and statement II is the effect. 

2. Statement II is the cause and statement I is the effect. 

3. Both statements are independent causes. 

4. Both the statements are effects of independent causes. 

5. Both the statements are effects of some common cause. 

32.  In the question below are given a statement followed by two 
courses of action numbered I and II. A course of action is a step or 
administrative decision to be taken for improvement, follow-up or 
further action in regard to the problem, policy, etc. On the basis of 
the information given in the statement to be true, then decide 
which of the suggested courses of action logically follow(s) for 
pursuing. 
Statement: 
Jo owns a piece of farming land which is located near the Krishna 

Cottage Cheese Manufacturers. She grows a lot of fruits like apples, 

pears and some vegetables like aubergines and okra. She then sells 

off her produce in the market. From the last few months, she has 

realized that a few of her crops have been destroyed and because of 

this, she was not able to deliver a large order of aubergines to a 

client. The crops are being eaten up by the cows owned by Krishna 

Cottage Cheese Manufacturers. Jo has a long-standing friendly 

relationship with the Krishna’s. She is in a dilemma about how to 

approach this situation. 

Course of Actions: 
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I. Katy, Jo’s friend advises her not to approach the Krishna’s and 

discuss the situation as it could be a one-time issue and that it might 

jeopardize her relationship with them. 

II. Jo’s mother shares her opinion of building an electrically barbed 

fence around her farming land so that the cows learn a nasty lesson. 

1. Only I follows. 2. Only Il follows. 

3. Either I or II follows. 4. Neither I nor II follows. 

5. Both I and II follow. 

.33. In which of the following expressions will the expression ‘6 > 

S’ as well as ‘R < U’ be definitely true? 

1.  6 = Q > R < S < T ≤ U 2. 6 ≥ Q = R > S > T < U 

3. 6 > Q < R = S < T = U 4. 6 ≥ Q ≥ R = S < T < U 

5. 6 > Q ≥ R = S < T ≤ U 

34. In which of the following expressions will the expression ‘1 ≤ 

C’ as well as ‘C > E’ be definitely true? 

1. 1 < B = C = D > E 2. 1 = B ≤ C > D = E 

3. 1 > B > C < D < E 4. 1 < B > C > D < E 

5. 1 ≤ B ≤ C > D < E 

35. In the following question assuming the given statements to be 

True, find which of the conclusion among given conclusion(s) is/are 

definitely true and then give your answers accordingly. 

Statements: 1 ≥ 4; B < C < E; F < C; 4 = B 

Conclusions: 

I. F < E 

II. 1 > C 

III. F > 4 

IV. B > 1 

1. Only II is True 2. Only I is True 

3. Only I and III are True 4. Only II and IV are True 

5. Only IV is True 

36. Directions: In making decisions about important questions, 

it is desirable to be able to distinguish between ‘strong’ 

arguments and ‘weak’ arguments. ‘Strong’ arguments are 

those, which are both important and directly related to the 

question. ‘Weak’ arguments are those, which are of minor 

importance and also may not be directly related to the question 

or may be related to a trivial aspect of the question. The 

question below is followed by two arguments numbered I and 

II. You have to decide which of the arguments a ‘strong’ 

argument is and which a ‘weak’ argument is. 

Statement: Should the odd even scheme be made permanent? 

Arguments: 

I. Yes. It will relieve the problem of traffic and pollution. 

II. No. Regular driving people will find it difficult to commute. 

1. Only argument I is strong 

2. Only argument II is strong 

3. Either argument I or II is strong 

4. Neither argument I nor II is strong 

5. Both arguments I and II are strong 

37. A statement is given followed by two inferences I and II. You 

have to consider the statement to be true even if it seems to be at 

variance from commonly known facts. You have to decide 

which of the given inferences, if any, follow from the given 

statement. 

 Statement: DU students protested at the metro station, seeking fare 

hike rollback. 

Inferences: 

I: DU students were affected by the fare hike. 

II: They demanded a separate student pass. 

1. Only inference I follows 

2. Only inference II follows 

3. Both inference I and II follow 

4. None of the inferences follow 

5. Either I or II follows. 

Direction(38-40): Read the following information carefully and 

answer the questions below 

There are thirteen members in a family from four generations. There 

are four couples and each couple has only two children of different 

gender. Caty is the aunt of Guri. Binu and Guri are siblings. Aruhi is 

the daughter of Caty. Farooq is the husband of Hima. Lovely is the 

grandmother of Ekum, who is the son of Manu. Lovely is the 

mother-in-law of Farooq. Ina is the aunt of Manu, who is the son of 

Dina. Oram is the father-in-law of Lovely. Ina is the daughter of 

Koma. 

38. How Binu is related to Dina? 

1. Son 2. Daughter 

3. Grandson 4. Granddaughter 

5. Cannot be determined 

39. How Caty is related to Farooq? 

1. Sister 2. Mother-in-law 

3. Sister-in-law 4. Mother 

5. Aunt 

40. If Ina is married to Jony, then how Jony is related to Oram? 

1. Brother-in-law 2. Son-in-law 

3. Uncle 4. Father-in-law 

5. Father 

41. What is a popular program for creating documents that can be 

read on both a PC and a Macintosh computer? 

1.  Microsoft Word 2.  Adobe In Design 

3 Adobe Acrobat 3 QuarkXPress 

5. None of these 

42. An image on a computer screen is made up of a matrix of what? 

1.  Byte 2.  Pixels 

3 Bit 3 Palette 

5. None of these 

43 What does dots per inch (DPI) measure? 

1.  number of bits it takes to represent each color 

2.  density of the pixels on a computer screen 

3 the density of bits on a disk 

3 density of graphic files stored on a hard disk 

5. None of these 

43 What type of software creates a smaller file that is faster to 

transfer over the Internet? 

1.  MPEG 2.  Unzipped 

3 Fragmentation 3 Compression 

5. None of these 

45. A unit of computer information that contains data as well as all 

the procedures or operations is called: 

1.  A method. 2.  Encapsulation. 

3 An object. 3 An OOP 

5. None of these 

46. The world's first truly cross-platform programming language is 

called: 

1.  C++. 2.  Java. 
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3 Visual Basic.NET. 3 Smalltalk. 

5. None of these 

47. The most widely used type of database management system is 

the: 

1.  Flat database. 2.  Network database. 

3 Relational database. 3 Hierarchical database. 

5. None of these 

48. What is the newest type of database, which is well suited for 

multimedia applications, called? 

1.  Object-oriented database 2.  Client/server database 

3. Data warehouse 3 Multimedia database 

5. None of these 

49. What do the circles on a data flow diagram represent? 

1.  Data sources and destinations 2.  Data flows 

3. Transformation processes 3 Data stores 

5. None of these 

50. The type of printer that prints by selectively unchanging static 

electricity from spots on a metal drum is a(n): 

1.  Plotter 2.  Dot-matrix printer 

3 Laser printer 3 Ink-jet printer 

5. None of these 

 

ENGLISH 
 

Direction (Q. 51 - 60): Read the sentence carefully to find out 

whether there is any error in it. The error, if any, will be in one 

part of the sentence. The number of that part is the answer. If 

there is no error, the answer is (5). Ignore errors of punctuation 

(if any). 

51. Pakistani authorities and the Foreign Office (a)/ have attempted 

to underplay the violent protest, (b)/ pictures posted in the media 

(c)/ show a different and an ugly reality. (d) 

1. a 2. b 

3. c 4. d 

5. No Error 

52. The attack on the birthplace of Guru Nanak (a)/ and the murder 

of a Sikh within 48 hours (b)/ show how deep the rot of religions 

(c)/ intolerance and bigotry runs in the country. (d) 

1. a 2. b 

3. c  4. d 

5. No Error 

53. Scholarship money is for students (a)/ from the economical 

weaker sections (b)/ to nurture talent by enabling (c)/ them to 

pursue studies. (d) 

1. a 2. b 

3. c 4. d 

5. No Error 

54. The standoff continued (a)/ on a full day (b)/ with US personnel 

(c)/ within the embassy building. (d) 

1. a 2. b 

3. c 4. d 

5. No Error 

55. Once again ‘Make in India’, (a)/ something we saw and left (b)/ 

in the ’60s, is being (c)/ talked in the media. (d) 

1. a 2. b 

3. c 4. d 

5. No Error 

56. These units worked for British forces (a)/ while the World Wars, 

and are (b)/ now under the control (c)/ of the Indian Industries 

Board. (d) 

1. a 2. b 

3. c 4. d 

5. No Error 

57. British company did not find them (a)/ up to the mark and sold 

(b)/ 40 of these engines to (c)/ the Soviet Union as scrap. (d) 

1. a 2. b 

3. c 4. d 

5. No Error 

58. A clear understanding (a)/ of the international (b)/ criticism is 

(c)/ need today. (d) 

1. a 2. b 

3. c 4. d 

5. No Error 

59. January 19, 2015 is a date (a)/ that Amit Shah (b)/ would like 

not (c)/ to remember. (d) 

1. a 2. b 

3. c 4. d 

5. No Error 

60. She was seen as an interloper, (a)/ an unwanted guest who 

entered (b)/ in their home with a baggage (c)/ the BJP could do 

without. (d) 

1. a 2. b 

3. c 4. d 

5. No Error 

Directions (Q. 61 - 65): In each of the questions given below, 

four words are given in bold. These four words may or may not 

be in their correct position. The sentence is then followed by 

options with the correct combination of words that should 

replace each other in order to make the sentence grammatically 

and contextually correct. Find the correct combination of words 

that replace each other. If the sentence is correct as it is, select 

(5) as your answer. 

61. The government will not issue (A) in portraying (B) this solely 

(C) as an succeed (D) about Muslims. 

1. A-D 2. B-C 

3. A-C, B-D 4. A-B, C-D 

5. A-C 

62. Those who protest (A) these rumours are continued (B) that a 

nonviolent spread (C) has upset (D) for so long. 

1. A-B 2. B-C 

3. A-C, B-D 4. A-B, C-D 

5. C-D 

63. Himachal Pradesh gives priority (A) to education, budget (B) 

as much as Rs 7,858 crore in the allocating (C), and has an 

admirable (D) student-teacher ratio. 

1. C-D 2. A-B 

3. B-D 4. A-C 

5. B-C 

64. The Imran Khan minorities (A) must safeguarded (B) that the 

fundamental rights of all government (C) in Pakistan are ensure 

(D). 

1. A-B, C-D 2. A-D, B-C 

3. B-C 4. A-D 
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5. A-C, B-D 

65. The Minister has been making (A) in the national capital for the 

last two days and camping (B) every attempt (C) to meet Home 

Minister in the hope of getting (D) back the post in the next round 

of Cabinet rejig. 

1. A-D 2. B-D 

3. A-B 4.  C-D 

5. A-C 

Direction (Q. 66 - 70): Rearrange the following five sentences A, 

B, C, D, E, and F in the proper sequence to form a meaningful 

paragraph; then answer the questions given below them.  

A. If you pay attention to these thoughts, you would be amazed to 

discover that most of them are useless, unimportant thoughts that 

pass through the mind with a huge speed.  

B. You might not believe that you think these huge quantities of 

thoughts, but if you have experience with meditation, you would 

have proof of the great number of thoughts passing through your 

mind.  

C. You also get proof of the endless stream of thoughts when you 

try to study, solve and problem or make a plan.  

D. These are words you repeat in your mind, comments the mind 

makes, repeating what you heard, questions, answers and a lot of 

senseless wandering thoughts that you might not even be aware of. 

E. It’s just like being a very busy train station or airport terminal, 

where a great number of people come and go. 

F. Suddenly, you become aware of the many irrelevant thoughts 

claiming for your attention. 

66. Which of the following should be the third sentence in the 

sequence? 

1. A 2. F   

3. E 4. D    

5. B 

67. Which of the following should be the second sentence in the 

sequence? 

1. D 2. B    

3. C 4. E    

5. A 

68. Which of the following should be the last sentence in the 

sequence? 

1. B 2. F    

3. E 4. C    

5. A 

69. Which of the following should be the fourth sentence in the 

sequence? 

1. A 2. D    

3. B 4. E    

5. C 

70. Which of the following sentences should be last but one in the 

sequence? 

1. C 2. F    

3. B 4. D  

5. A 

G.K 
71. Which of the following country has launched 1st Arctic Train 

Service recently? 

1. Japan 2. Russia 

3. India 4. China 

5. None of these 

72. When there is a difference between all receipts and expenditure 

of the Government of India both capital and revenue it is called- 

1. Revenue Deficit 2. Budgetary Deficit 

3. Zero Budgeting 4. Trade Gap 

5. Balance of Payment Problem 

73. In India, Mutual Funds are regulated by-? 

1. Securities and Exchange Board of India 

2. Reserve Bank of India 

3. State Bank of India 

4. Small Industrial Development Bank of India 

5. None of the given options is true 

74. ____________________ has launched a Fiscal Performance 

Index (FPI) to assess state and central budgets. 

1. Internet and Mobile Association of India 

2. FICCI 

3. NASSCOM 

4. Confederation of Indian Industry 

5. None of these 

75. Which educational programme launched by L&T Financial 

services in Tamil Nadu aimed at financial inclusion of rural 

women? 

1. Digital Nari 2. Digital sakhi 

3. Digital empowerment 4. Digital womenpower 

5. None of these 

76. Which entity has surpassed State Bank of India (SBI) for the 

first time, in terms of market capitalization? 

1. ICICI Bank 2. HDFC Bank 

3. Bajaj Finance 4. Axis Bank 

5. None of these 

77. Who was appointed as the new principal Director General(DG) 

of the Press Information Bureau (PIB) ? 

1. Sitanshu Kar 2. Rajiv Jain 

3. Shyama Prasad 4. Kuldeep Singh Dhatwalia 

5. None of these 

78. Which state was awarded with the Best Learning and Sharing 

Space Award 2019 ? 

1. Gujarat 2. Telangana 

3. Jammu & Kashmir 4. Himachal Pradesh 

5. None of these 

79. Who has been appointed as first lieutenant governor (LG) of 

Ladakh ? 

1. Girish chandra Murmu 2. Anadi Ben Patel 

3. Radha Krishna Mathur 4. Satyapal Malik 

5. None of these 

80. Who has won women’s single title in US open 2019 and has 

become youngest and first ever from Canada to win this title? 

1. Bianca Andreescu 2. Svetlana Kuznetsova 

3. EliseMertens 4. Belinda Bencic 

5. None of these 

81. A debt which is irrecoverable and is therefore written off as loss 

in the accounts of an institution or bank is known as __________ 

1. external debt 2. good debt 

3. bad debt 4. internal debt 

5. None of the given options is true 
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82. Financial Literacy Week 2019  has been observed from 03rd to 

07th June on the theme of ________________ and how they benefit 

by being a part of the formal banking system. 

1. Farmers 2. Students 

3. Leaders 4. Education 

5. Care 

83. Who will settle the grievances of customers of banks? 

1. Reserve Bank of India 2. State Bank of India 

3. Local Courts 4. Banking Ombudsman 

5. Governor of RBI 

84. Who won the Best FIFA Women’s Player award 2019 ? 

1. Alex Morgan 2. Megan Rapinoe 

3. Tobin Heath 4. Rose Lavelle 

5. None of these 

85. ELISA test is used to detect – 

1. Cancer 2. Polio Virus 

3. AIDS 4. Dengue 

5.None of these 

86.  National Institute of Bank Management is an Indian institution 

for research, training, and consultancy in banking and finance. It is 

located in- 

1. Bengaluru 2. Allahabad 

3. Pune 4. Siliguri 

5. Cochin 

87. The theme for World Food Safety Day 2019 is-? 

1. Food That May Harm the Health of Consumers 

2. Food safety is the Absence of Safe 

3. Food Safety, Everyone’s Business 

4. Foodborne Illnesses May Result 

5. None of these 

88. With which of the following would you identify a ‘no frills’ 

account? 

1. A savings account with no minimum balance requirement 

2. A savings account not having KYC requirement 

3. Fixed deposit account for one year and less 

4. Savings account opened in rural branches 

5. None of the given options is true 

89. Name the player, who was named as first non-British President 

of the Marylebone Cricket Club. 

1. Brendon McCullum 2. Kumar Sangakkara 

3. Rahul Dravid 4. Shahid Afridi 

5. None of these 

90. Justice _________________ was sworn in as the Chief Justice 

of Patna High Court. 

1. Lingappa Narayana Swamy 2. Sanjay Karol 

3. S. Manikumar 4. Mohammad Rafiq 

5. None of these 

 

 
 

 


